 Nade The “actual exom will be chorter,
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(15 points) Determine the amplitude, period, and phase shift of y = 4sin(2z — 3375) Then
graph the function (you should graph the function for more than one period).

A= A sia (Bx-c)
A‘:4) 6:1/ c:%ﬂl

AMP“}-A& ) \A\ - \ll-‘ ;4}.

' oa I,
D vorkerof dhe et -
Period | TE-=T W =7 A

: . ‘P'\‘ " g’ 1’:‘; : J’_ - -n"*

Ca s Po“ w .
S-, Yo key Pom%s are. as Folle iD= O

| ,;g\f\fi{/f* . 4. sin K - ’LW} =
B HER =) P
- s 3T\= O
: | T ) ’OT @ 4. ;,n(_'xz__._ o o
, @ ir + ,‘1: jpud o+ = =
, x

4 L Vv T :
® ; .
o T ':._}ZJL = 4"*“"["“" <)z
pi LO_.l’;-ﬁ- rL = % + -\—;'\: i :3
o e | 4 “Uw -
' \ pr o +3 - KT
XS m——+% :,\, )'\, ‘z\,
= o > .
gy pares .
(Z,0)
L’%,4)
<
L LO\%-'O’) N
13T
( BT ,-¢4)
O
¥z, O
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(10 points)  Use the right triangle shown in the picture to find & ,¢ GAAE’QE We know that
b= 5, B =60°. You need to use trlgonometrlc functions for this questlon other methods will
be chsregalded

O\(Lwcw o & 1Y

$' 5 _ifek o=l
T fad 2 s
., Cos ({ o) =
Vi = \OS1
T toS"‘
(20 points)
(a) (8 pOintS) Find the exact value of cos“l(-—léz). Explain your answer. _
(e} ( ()) @ o we ar !ooL;n} for on
, : . ’ o s “ |
angle Q —‘, L.’_'o n-] SVC«\‘) ’\%5- , CO{Q = ’5‘1‘]
@ s )\’0’ ’ n qdaérw")” I as cos 15 regohwe

Se, © i 135 ’3"" be,cwsz_ cm(l?s");:-—-Cos(é.S ) -

Y
Ths, <cos(-$2)= 3L
(b) (3 points) Find the exact value Qf Sin(sin—l(“zﬁ))-
lek =9
\F sin ( A\T) =B |, Aher moonf
bu’r '\"'\Qrt )5 No oﬁg\g, = .Suc-\n Aoy s

becavse. the  ronge of <ine 3¢ T 13
So, A anrwer s uk/)AQ,Pm(LClw-

Sn(B)= LT = —6.1%
inlp) = -6%




" MAC 1114 EXAM =2 SPRING-2016

(c) (4 points) Find the exact value of sin™? (su(%)) Explain your answer.
IS
oncwer IS noT” --s--:-l~ .
'(’ "—Ij_ 7 %Z_,’) / er_. ¢ §

S iy no}  in ‘
rhe refemnce angle l’c&aoz.’

Since v

5‘:0(521): ﬁn(,%) ::,‘?: by

3 _ osasnT) = Clecome Tin O
SM‘(S‘M(S{__{[))—_—_ S'm(smgé“l) @ | Cove - i

(d) (5 points) Find the exact value of tan (sin™'(—%)). | 3 )
ore loaking ‘?C"/’ Yanl e) | /

ﬁ\dl

via

ler © 24531{’\('-%')}‘ So W&
L @e ["%/3{

ond
1N E"{, ol inYervel .

(e) '(5 points) Find the exact value of Sin(75o) , ’ -
Formv\a 'P“f sing
cin(3C) = sia (30+4S°) by som =
o sin(ar)s cos(48) + sin[ 45D, !
- L ) ,.J.{-—‘- g %—- & S:;E_}
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(15 points)

(a) (5 points) Verify the identity
cos@-cscd-tanf =1

~he left hend  side s

\
G
\
N
S\
o

sin@)  cos(®)

!
0
N
-~
A

N

(b) (10 points) Verify the identity / ¢

sec(260) — cos(26)
sin?(26)

Com M lefd hond side

= sec(26)

A ’ - — C§3('lg) o
s |=cos(®)
- R , L= =ity ’
sin-(28) Sin(10) ‘
(lesiTre)) _
¢ b \ )
—  Sec C’Leﬁ , be cous sia (1) = | — cos (e

oy Py 'Hoggo/e &7
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(15 points)  Given that sin(a) = -g—, « lies in quadrant I, and sin(8) = -g—, B lies in quadrant
II. Find the exact value of sin(a — ).

4 .
\ -9 - 4
T 43D sin ()= r T 5
5 | ot T
4 4.,),3 K+8 =
A X Pyt h a goreen [d2- L 5"
T ) | ‘ 1.“ ﬂ
X =
—> @—w Az -—-g a3
L
| | 4\‘5 ‘again ), f’g/}ha9arm \C\Umj
y e in - -5 7 l+‘i1 f‘~

oo

_ ¢ =9
* * e e B¢
N A@
T’W%F‘OIQ_ @o{ P?: Sm.o( CL@S{3 — CoSb( S)‘/)ﬁ A

(-3_) —_— &
[ 6 ] (10 points) Verify the identity , s

. i ‘,_\'L — ’L 2. B
(sin @ ==cosf)? = 1 —sin26 L l '71,% '

C@+f _g,}or»}‘ f/‘om Yhe_ ’ef)— I’MJI»A&. ‘,’

Gide—cm B)‘: ‘ Sme«-— ‘L,sm@ CDSQ + Cofe

e 5‘,,,94. cos @”w‘
=\ sin(1)

} %\Sbn(lg) /

\otj ’\'N, Avbuuﬂ, 0\/\3(12_ 'Formu)o?-
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EXAM =
E} (20 points)

(a) (10 points) Find the value of 2 + sin®*(75°) + sin?(15°). Explain your answer.

v, |
- ". S‘h;;(?so) 4 C.()S'LC?';) C'.QFU()C’\"’GI)J‘

I

241 loy

ythagorean \den Hiy
= 3

(b) (10 points)

Use the reference angle to find the exact value of sin(—135°). Explain your
answer.

1 The reFrwc& Cangle oF ~)138° s

-35°

S"/ Sin (,-'\35% = + Sif) £45°)
) )

\ 1
Ruk, we choose 4he negeXive Sign
Wecavse  Sip i

15 /\aga-\%ve. i Yhe
third  quod et .

Sin (—lZS") o Sin (.4-50) = - S'Z-?

.

o : L§__] (50111155 POlntS) Find the exact

 cos?(225°) — sin?(225°)
= cos (1. (9
= c&s(é.'?) :_@:
log. ca vz of '\‘1'\2 Aoub\l oﬂg(@, !cﬂl“mu>0',

| i
CaS‘(’L@) - c!osY@) — SIN =D



MAC 1114 EXAM THREE
[A] (25 points)

(a) (10 points) Solve the equation over the interval [O, 27)

cos(2x)=£
2
We know Cos £4.5°) = ST ond cos (’3!5""): E
e ,

CD{CJE ::' co:L%g_): §1!

T - r{\
| | | i
Lince ,C,‘osC’LXB*;_ o \r%e

— IE 42T ’ -
Zx < since. s has p€riod 2T

2x = EL+AT
- : = X = I
W Az O, xwl‘anc\, =

- — T FERTI L
n=\ , %= :LL".mr c‘x . anA Xz ";§+Tr._l_%lf

‘\‘:',’\:’L, we or oy la the reinge. ror). Se, The sel. Is

. =1, 2L, ar BT
(b) (15 points) Solve the following equation on the interval [0, 27) =y Ty oy
sinz - cosz = —-ﬁ - ,
Lamembe that Sialx= 2L siaX. corR
, 2_. ;
%1 < é& '
s Sl‘f\ 2.)( T e ...___?...... wt kﬂbw “\ _,__:l_:, ml
B = . sia 57" = - 2
> 2K = wgr y a1 | A

‘a/\l UK = 5?-7;1-}—'\,/) ™

\F n,’:O/ R ':_ af\é x@ ”r;\o, go\. S«QA’ ‘;f

LT ST S0 )
Ve ) (2T ), oma K‘-:__-' . ()"13?/ gl’é[f’?



